CH.7 Security in Contemporary World  
CBSE workshop for the preparation of OTQS
	S.No.
	Multiple Choice Questions 
	Category of question

	1
	Choose the correct answer:
 In the traditional concept of security the greatest danger to our country is from 
(a)	military threats 		
(b)	political threats 
(c)	internal threats 		
(d)	police raids
Answer: (a)
	Understanding

	2
	Choose the wrong answer: 
The source of traditional danger is: 
(a)	any outside country 	
(b)	terrorist attack 
(c)	police attack 		
(d)	military coup
Answer: (c)
	Applying

	3
	Choose the correct answer from the following:
Military action endangers-
(a) The core values of sovereignty and territorial integrity 
(b)	Arms control 
(c)	Nuclear Non-proliferation Treaty 
(d)	Human Security
Answer: (d)
	Analyzing

	4
	Choose the correct answer under military action 
(a)	Ordinary men and women are not made targets 
(b)	Only soldiers are killed 
(c)	Only government establishments are targeted 
(d)	Only buildings are destroyed
Answer: (a)
	Understanding

	5
	Traditional security policy as a component is called- 
(a)	balance of power 
(b)	balance of authority 
(c)	remaining authority 
(d)	Prudential authority
Answer: (a)
	Remembering

	6
	Choose the wrong answer related to the component of traditional security policy is  _______
(a)	Alliance building 
(b)	Healthcare 
(c)	Balance of Power
(d)	Global poverty
Answer: (b)
	Remembering

	7
	Choose the correct answer: 
A good part of of maintaining balance of power is to build up 
(a)	 military powers 
(b)	political power 
(c)	human security 
(d)	Global poverty
Answer: (a)
	Applying

	8
	Choose the right answer: 
Military action also cause dangers to-
(a)	The lives of ordinary citizens 
(b)	Soldiers 
(c)	Political stability and economy 
(d)	Concentration of power in few hands
Answer: (a)
	Understanding

	9
	Select the correct answer:
Al-Qaeda had been a group of Islamic militants led by-
(a)	Osama Bin Laden 
(b)	Hafiz Saeed 
(c)	Dawood Ibrahim 
(d)	Masood Azhar 
Answer: (a)


	Remembering
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	S.No.
	Fill in the Blanks 
	Category of question

	1
	NPT stands for ______________
Answer:    Nuclear Non-Proliferation Treaty  
	Remembering

	2


	
	Nuclear Non-Proliferation Treaty signed in the year __________
 Answer:-      1972 
	Remembering

	3
	France was a part of __________ alliance system.
Answer:-   western 
	Remembering

	4
	The Anti-Ballistic Missile Treaty is a/an __________ Treaty
Answer Arms control
	Understanding

	5
	India’s nuclear policy is __________ 
Answer:-    no first use policy
	Applying
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	S.No.
	Fill in the Blanks 
	Category of question

	1
	___________ Treaty tried to stop the United States and Soviet Union from using ballistic missiles as a shield.
Answer:    (anti ballistic missile treaty) 
	Understanding

	2
	Terrorism used for political violence is to target _________ liberty.
Answer:   Civilian's
	Analyzing

	3
	Traditional security policy has a third component called ___________
Answer:     (Balance of power) 
	Remembering

	4
	US and Soviet Union signed a number of Arms control treaties like SALT-I, SALT-II,   _________ and ___________
Answer:    START I and START II
	Remembering

	5
	US helped the Islamic militants in Afghanistan against ___________ in 1980.
Answer:-    (Soviet Union)
	Understanding
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	S.No.
	Match the following  
	Category of question

	1
	Match the following crisis in the world politics with their respective years - 
i. 	Korean crisis	a.	1950-53
ii. Cuban Missile 	b.	1961	
      crisis	c.	1960's
  	                              d.	1958-62
i-a,  ii-  b
	

	2
	Match the following leaders of NAM with their countries - 
i. 	Gamal Abdel        a. Indonesia
     Nasser  		 
ii. 	Josip Broz Tito 	b.	Egypt 	
                                  c. Yugoslavia
  	                              d.	Congo
Answer i-b, ii-c
	

	3
	Mention the following countries with their ideologies -
i. 	China 	a.	Democracy 
ii. 	India	b.	Communist 	
	                             c.	Mixed Economy 
                                  d.	Capitalist
Answer i-b,  ii-c  
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	S.No.
	Match the following  
	Category of question

	1
	i. 	First Gulf War 	a.	Iran 
ii. 	Computer War	b.	Kuwait 	
		c.	Saudi Arabia
		d.	Iraq
Answer i-b, ii-d
	

	2
	i. 	9/11	a. World Trade    
                                        Center 
ii. 	Global War on     b. Operation Enduring   
     Terrorism                  Freedom 	
                                 c. Operation Iraqi
                                       Freedom   
                                   d. Guantanamo Bay
Answer i-a, ii-b
	

	3
	i. Operation Desert   	a.	Missile attack in
   Storm                          Sudan            
ii. 	Operation Iraqi 
Freedom	b.	First Gulf War	                                  
		c.	Coalition of the 
                                        Willing 
		d.	Hide strategy
Answer i-b,  ii-c
	

	4
	I. 	Cold War 	A.	1945 – 91
II. 	Disintegration 
of Soviet Union	B.	1992
		C.	1961-91
		D.	1991
Answer i-a, ii-d
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	S.No.
	Match the following  
	Category of question

	1
	Match the following  
Leader 			Parties 
Column A			Column B
i. Atal Bihari Vajpayee     a. United
                                              Progressive
                                              Alliance 
                               
ii. 	H.D. Deve Gowda       b. National 
                                             Democratic  
                                             Alliance	
		        c. United Front 
		        d. National Front 
Ans. (i) - (b)    (ii) - (c)		
	

	2
	Match the following:          			                               Column A                  Column B
i. 	Hindutva 	a.	L.K. Advani 
ii. 	Mandal 
Commision  	b.	United Front 
		c.	National Front 
		d.	V.D. Savarkar 
Ans. (i) - (d)    (ii) - (c)		
	

	3
	Match the following  
Column A			 Column B
i. 	National                            a. 1991-96
     Front                                 b. 1989-90
ii. BJP minority                     c. 2014-19
    Government                      d.  1996
Answer i-b, ii-d	
	

	4
	Match the following  
Column A			Column B
i. 	Caste based parties 	a.	Agreement on
                                              Economic  
			       Policies 
ii. 	Growing strength of   b.	Coalition 
 Regional parties	 Government
		      c.Shah Bano Case 
		      d.	Rise of OBCs
Ans. (i) - (d)    (ii) - (b)		
	

	5
	Match the following  
Column A			Column B
i. 	Assassination 	a.	PRI
   of Rajeev Gandhi 
ii. 	I.K. Gujaral 	b.	National Front 
      	c.	LTTE
		d.	United Front 
Ans. (i) - (c)    (ii) - (d)		
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	S.No.
	Match the following  
	Category of question

	1
	Match the following  
Column A			Column B
i. 	Open Door Policy      a.	Hu-Jin Tao 
ii. 	Four modernizations  b.	Zhou Enlai 
		      c.	Mao Zedong 
		      d.	Deng Xiaoping 
	Answer i-d, i-b 
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	S.No.
	Match the following  
	Category of question

	1.






2.

	Match the following  
Column A				Column B
I. 	Globalization 	A.	Westernisation
II. 	W.S.F meeting 	B.	June, 2001	
		C.	Delhi, Jan 2007
		D.	Multi-dimensional 			phenomenon 
Ans.: (i)  D            (ii)  B


i.	Liberalization              (a)	State control
ii.	Prime determinant 
	of Globalisation          (b)	Competitive 
                                                market
                                         (c)	Free Market 
	                                    (d)	Reduced  		                                           restrictions 
Ans.: (i)  D            (ii)  C

	Understanding







Applying

	3
	Column A                              Column B
(i)	Economic	     (a) Transparent
   globalization                     Identity of Culture 
		    (b) Greater economic 
                                           flow
	                                 (c) Distinctive identity of 
                                            culture
(ii)Cultural
 impact of 		(d)	  No tax 
Globalization  			 
Ans.: (i)  B            (ii)  C
	Analysing

	4
	Column A                              Column B
(i)	IMF                  (a)	World Trade  
                                        Organization
	                        (b)	      Intimation Monetary 			Foundation  
	                        (c)      World Tourism
  	                               Organisation
(ii)WTO              (d)      International Monetary
                                        Fund 
Ans.: (i)  d            (ii)  a
	Remembering

	 5.
	Column A                           Column B
(i)	IMF                               (a)	1995 
	                                      (b)	1993		 
	                                      (c)       1954 
(ii)WTO                           (d)      1945  
Ans.: (i)  D            (ii)  A
	Remembering




